	Week 20	Sixth Grade Math For Today	Name:  ______________________

	G.8.6.2a
Changes in Perimeter When Dimensions Change
	M.13.6.4
Formulas for Area and Perimeter
	A.4.6.1
Missing Term in Pattern or Function Table
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	BLAST FROM THE PAST: Remember these problems from Weeks 1 and 3?

	
	
	
	
What is the missing term in the following pattern?

1, 3, 5, ___, 9, 11…


	
	
	
	Juan had the following number of stolen bases in each of his first five years in Little League:

4, 9, 14, 19, 24

If the pattern continues, how many will Juan have in his 6th year?
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	If one side of an equilateral triangle measures 6 cm, what is the perimeter of the triangle?
	

If you continue the pattern below, how many 
     blocks would you shade in the last square?





	
	
	If the perimeter of a square is 16 inches, what is the length of one side of the square?
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Show all of your work.
	What is the perimeter of a rectangle with a length of 4 feet and a width of 5 feet?
	

    What is the eighth term in the counting 	sequence below?

			106, 98, 90, 82 …


	
	
	A rectangle has a perimeter of 24 inches.  Its length measures 8 inches.  What is the measure of its width?
	

      Find the next number in the sequence.

1080, 360, 120, ____
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Show all of your work.
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	       The local bakery is complete mayhem!  The oven seems to be broken.  When cookies go in the oven, fewer cookies come out.  Below is a table of the outcomes when cookies go in the oven.  What are the missing values?  

	In
	Out

	38
	33

	32
	?

	28
	23

	24
	?
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Mr. Brady displays his students” science work
on the bulletin board that measures 4 feet wide
and 8 feet long. How much trim will he need
for a new bulletin board that is twice as long
and twice as wide?
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The quilt on Caroline's bed measures 50 inches
by 80 inches and is trimmed in pink ribbon.
Her brother Joe has a quilt that is 25 inches by
40 inches and is trimmed with blue ribbon.
How does the amount of ribbon on Joe's quilt
compare to the ribbon on Caroline's?
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The plot of land shown below is a
parallelogram. What is the perimeter?

165 ft.

62 ft.
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Farmer John’s Prices:

Eggs: $0.60/dozen
Peaches: $1.45/pound
Butter: $2.20/pound

Every Saturday, John sells eggs, peaches, and homemade butter at the local farmers” market. The sign
above shows John’s prices.

One of John’s customers bought 2% dozen eggs, 3 pounds of peaches, and % pound of butter. What is the

total cost of the customer’s purchase? Show your work or explain your answer.
1. John offers a 4-pound basket of peaches for $5.00. How much will his customers save per pound if
they buy a basket of peaches instead of buying them by the pound? Show your work or explain your

answer.

BE SURE TO LABEL YOUR RESPONSES 1 AND 2.
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Daniela’s pet chickens have outgrown their
chicken coop. Daniela and her dad want to
build a new coop making each side twice as
long as the old one. The original chicken coop
is shown below.

10 ft.
5t

20 ft

10 ft

How will the perimeter of the new coop
compare to the perimeter of the old one?
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Marvin is going to put a fence around the
flower garden shown below. What will be the
perimeter of the garden?

8 ft.
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Mr. Easter has a flower bed in his front yard
that is in the shape of an equilateral triangle
that measures 6 feet on each side. He wants to
make another flower bed like this one, but with
sides twice as long. How will this change
affect the perimeter of the new flower bed?

A

B.
C.
D

double it
increase by 6 feet
increase by 12 feet

square it
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